“j-merf_ace” CipherFactory WeakKeyException
IBlockCipher +getInstance (name:String): IBlockCipher +e<create>> WeakKeyException()
+CIPHER_BLOCK_SIZE: String = "gnu.crypto.cipher.block.size” +zetNames(): Set +<<creates> WeakKevException(msg:String)

+KEY_MATERIAL: String = "gnu.crypto.cipher.key.material”

+name(): String

+defaultBlockSize(): int

+defaul tkeySize(): int

+blockSizes(): Iterator

+keySizes(): Iterator

+clone(): Object

+init{attributes:Map): void

+currentBlockSize(): int

+reset(): void
+encryptBlock(in:byte[],in0ffset:int,out:byte[],out0ffset:int): void
+decryptBlock(in:byte[],in0ffset:int,out:byte[],out0ffset:int): void
+selfTest(): boolean

<<interfaces»
IBlockCipherSpi

+blockSizes(): Iterator

+keySizes(): Iterator

+makeKey (keyMaterial :byte[],blockSize:int): Object
+encrypt(in:byte[],in0ffset:int,out:byte[],out0ffset:int k:0bject,bs:int): void
+decrypt(in:byte[],in0ffset:int,out:byte[],out0ffset: int ,k:0bject,bs:int): void
+selfTest(): boolean

BaseCipher

#name: String

#currentKey: Object

#defaultBlockSize: int
_ . #defaultKeySize: int
|'q'm’lhlls |—| | Khazad |—| | Rijndael I_ #currentBlockSize: int

|Blowfish|—| [tripteDES | - = DEs] #lock: Object

+name(): String

1
N +defaul tBlockSize():
|Twof|sh IJ | Square IJ +defaultkeySize(): int

+init(attributes:Map): void
: int

NullCipher +ourrentlBlockSize ()
+reset(): void

+selfTest(): boolean
+clone(): Object

#<<creates> BaseCipher(name:String,defaultBlockSize:int,defaultkeySize:int)

+encryptBlock (in:byvte[],in0ffset:int,out:byte[],out0ffset:int): void
+decryptBlock (in:byvte[],in0ffset:int,out:byte[],out0ffset:int): void

int




